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1303 

B.Com. (First Year) EXAMINATION, 2019 

A.B.S.T. 

Paper – I 

FINANCIAL ACCOUNTING  

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.¼[k.¼[k.¼[k.M & l½M & l½M & l½M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M    & v& v& v& v    

Q.1 (i) What is dual aspect concept?  

  f} i{k dh vo/kkj.kk D;k gS\  

 (ii) What is convention of conservatism?  

 :f<+okfnrk dh ijEijk D;k gS\  

 (iii) State any two causes of Depreciation.  

  ewY;&âkl ds dksbZ nks dkj.k crykb,A 

 (iv) How Normal loss is treated in Consignment?  

  izs"k.k ij lkekU; gkfu dk ys[kk O;ogkj dSls gksrk gS\  

 (v) What is standard turnover in Insurance Claims? 

  chek nkoksa esa izeki foØ; D;k gS\  

 (vi) State any two difference between R/P a/c and I/E a/c.  

  izkfIr&Hkqxrku ,oa vk;&O;; [kkrs esa dksbZ nks varj crykb,A  

 (vii) What do you mean by recoupment of short working?  

  y?kq dk;Z jkf’k dh olwyh ls D;k vk’k; gS\  

 (viii) State any five basis of allocation of indirect expenses among departments.  

  foHkkxkh; ys[kksa esa vizR;{k [kpksaZ ds vkOkaVu ds dksbZ ik¡p vk/kkj crykb,A  

 (ix) Give name of methods of goodwill, used in Partnership Accounts.  

  lk>snkjh [kkrksa esa iz;ksx dh tkus okyh [;kfr dh fof/k;ksa ds uke crykb,A  

 (x) x and y share profits in 4:3. They admit ‘z’ for 
7

2
  in share. z receives his share 

equally from x and y. Calculate New Profit Sharing Ratio.  

 ,Dl rFkk okbZ 4%3 ds vuqikr esa ykHk ckaVrs gaSA os tsM dks 
7

2
 fgLls ds fy, izos’k nsrs gaSA 

tsM viuk fgLlk ,Dl rFkk okbZ ls cjkcj&cjkcj izkIr djrk gSA u;k ykHk foHkktu 

vuqikr Kkr dhft,A  

PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc    
UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 Write a note on conventions of Accounting.  

 ys[kkadu dh ijEijkvksa ij ,d fVIi.kh fyf[k,A 
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OR@ @ @ @ vFkokvFkokvFkokvFkok 
Q.3 The difference in Trial balance is put in Suspense Account. Before preparing the 

final accounts, the following errors were detected:   

 (a) Purchase for `540 was written in sales day book, but was posted to the correct 

side of party’s account.  

 (b) Salary account total `12600 on page No. 32 was carried over to next page as 

`1260 on the wrong side.  

 (c) Interest on overdraft `650 was not posted to the ledger from the cash book.  

 (d) `600 collected from a party in respect of old dues from him which had been 

written of as bad debt two years ago, was credited to the party account.  

  Give rectification entries and suspense account.  
ryiV ds varj dh jkf’k dks mpUrh [kkrs esa j[kk x;kA vafre [kkrs cukus ls iwoZ fuEu v’kqf);ksa 
dk irk yxk &  
¼v½ 540 ` ds Ø; dks foØ; iqLrd esa fy[kk x;k ijUrq O;fDrxr [kkrs ds lgh i{k esa [krkSuh 

dj nh xbZA  
¼c½ i`"B la[;k 32 ij osru [kkrs ds 12600 ` ds ;ksx dks vxys i`"B ij 1260 ` xyr i{k esa 

fy[kk x;kA  
¼l½ vf/kfod"kZ ij 650 ` ds C;kt dh jksdM+ cgh ls [kkrkcgh esa [krkSuh ugha dh xbZA  
¼n½ nks o"kZ iwoZ Mwcr _.k ds :i esa fy[kh xbZ 600 ` dh jkf’k ,d i{kdkj ls izkIr gqbZ vkSj 

i{kdkj ds [kkrs esa ØsfMV dj nh xbZA  
 lq/kkjkRed izfof"V;k¡ ,oa mpUrh [kkrk nhft,A  

UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Write short notes on –  

 (i) Causes and objectives of Depreciation.  

 (ii) Valuation of unsold stock on consignment.  

 laf{kIr fVIif.k;ka fyf[k, &  
 (i) ewY;âkl ds dkj.k ,oa mÌs’;  
 (ii) izs"k.k ij fcuk fcds eky dk ewY;kadu  

OR@ @ @ @ vFkokvFkokvFkokvFkok 
Q.5 A machinery was purchased for `5,00,000 including a boiler worth `50,000. For the 

first four years, the machinery a/c had been credited at 10% p.a. with the amount of 

depreciation on the written down value method. During fifth year (the current year) 

the boiler is damaged and sold for `12500.  

 Prepare machinery a/c for current year with workings.  

 ,d e’khujh 5]00]000 ` esa [kjhnh ftlesa 50]000 ` dk ,d ckW;yj Hkh lfEefyr FkkA izFke pkj 
o"kksZ esa e’khu [kkrs dks Øekxr âkl fof/k ds vuqlkj 10% okf"kZd nj ls âkl dh jkf’k ls ØsfMV 
fd;k x;kA ikapos o"kZ esa] tks fd pkyw o"kZ gS] ckW;yj {kfrxzLr gks x;k vkSj mls 12500 ` esa csp 
fn;k x;kA  

 pkyw o"kZ ds fy, dk;Z fVIi.kh ds lkFk e’khujh [kkrk rS;kj dhft,A  



[1303]          Page 4 of 8                                                    

UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 x purchased a C.D. player on hire purchases system. As per agreement he is required 

to pay ` 5000 down payment, `4000 at the end of first year, `3000 at end of second 

year and `6000 at end of third year. Interest is charged at rate of 20%.  

 You are required to calculate total cash price and interest paid in each instalment.  

 ,Dl us ,d lh- Mh- Iys;j fdjk;k Øe i)fr ij Ø; fd;kA le>kSrs ds vuqlkj 5000 ` rqjUr 
Hkqxrku djuk gSA izFke o"kZ ds var esa 4000 ` nwljs o"kZ esa 3000 `] rFkk rhljs o"kZ ds var esa 
6000 ` pqdkus gaSA C;kt 20% dh nj ls yxkuk gSA vkils lh- Mh- Iys;j dk dqy udn ewY; ,oa 
izR;sd fdLr esa 'kkfey C;kt dh jkf’k vkadfyr djus dks dgk x;k gSA  

OR@ @ @ @ vFkokvFkokvFkokvFkok 
Q.7 Narrate the steps involved in the computation of claim under loss of profit policy.  

 ykHk dh {kfr chek ikWfylh esa nkos dh x.kuk esa lfEefyr LVsil~ ¼Lrj½ dks crykb,A  

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Explain –  

 (i) Right of recoupment of short working with example.  

 (ii) Allocation of indirect expenses among departments with examples.  

 le>kb, &  
 (i) y?kqdk;Z jkf’k olwyh dk vf/kdkj ¼mnkgj.k lfgr½ 
 (ii) vizR;{k [kpksZa dk foHkkxksa esa cVokajk ¼mnkgj.k lfgr½  

OR@ @ @ @ vFkokvFkokvFkokvFkok 
Q.9 Jhunjhunwala had a branch at Churu. Goods are invoiced to branch at cost plus 

25%. Branch is instructed to deposit cash every day in bank a/c of H.O. All 

expenses are paid by cheque by H.O. except petty cash expenses which are paid by 

Branch Manager.  From the following particulars, prepare branch a/c in books of 

H.O. –   

Stock on 1.4.2014 2500 

Stock on 31.3.2015 3000 

Sundry Debtors 1.4.2014 1400 

Sundry Debtors 31.3.2015 1800 

Cash Sale for the year  10800 

Cash remitted to H.O. 15700 

Credit Sales for the year  7000 

Furniture purchased by branch manager  1200 

Goods invoiced from H.O.  18200 

Expenses paid by H.O.  1640 

Expense paid by branch  120 

H.O. sent cash to purchase safe for branch  1300 
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 >qu>quokyk dh pw: esa ,d 'kk[kk gSA 'kk[kk dks eky ykxr ij 25% tksM+dj Hkstk tkrk gSA 

'kk[kk dks funsZ’k gS fd og jksdM+ dks izfrfnu cSad esa iz/kku dk;kZy; ds [kkrs esa tek djk nsaA 

QqVdj jksdM+ O;; tks fd 'kk[kk izca/kd }kjk Hkqxrku fd, tkrs gaS] dks NksM+dj lHkh O;; iz/kku 

dk;kZy; }kjk pSd ls Hkqxrku fd, tkrs gSaA fuEu fooj.kksa ls iz/kku dk;kZy; dh iqLrdksa esa 'kk[kk 

[kkrk cukb, &   

1-4-2014 dks LVkWd   2500 
31-3-2015 dks LVkWd 3000 
1-4-2014 dks fofo/k nsunkj  1400 
31-3-2015 dks fofo/k nsunkj 1800 
o"kZ Hkj dh udn fcØh  10800 
iz/kku dk;kZy; dh tek jksdM+ 15700 
o"kZ Hkj dh m/kkj fcØh   7000 
'kk[kk izca/kd }kjk QuhZpj dh [kjhn  1200 
iz/kku dk;kZy; }kjk Hkstk x;k eky  18200 
iz/kku dk;kZy; }kjk O;;ksa dk Hkqxrku  1640 
'kk[kk }kjk O;;ksa dk Hkqxrku 120 
iz/kku dk;kZy; }kjk 'kk[kk ds lsQ [kjhn ds fy, Hksth xbZ jksdM+ 1300 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Explain the accounting treatment of goodwill on admission of a new partner.   

 ,d u;s lk>snkj ds izos’k ij [;kfr ds ys[kkadu O;ogkj dks le>kb,A  

OR@ @ @ @ vFkokvFkokvFkokvFkok 
Q.11 Govind, Girdhar and Gopal are partners sharing in 3:2:1. on 31.3.2013 the firms 

Balance sheet was as under :     

 xksfoUn] fxj/kj ,oa xksiky 3 % 2 % 1 ds vuqikr esa ykHk&gkfu ckaVrs gq, lk>snkj gaSA 31-3-2013 

dks QeZ dk fpV~Bk fuEu izdkj Fkk %  

 Liabilities ` Assets ` 

Sundry creditors  19000 Cash at Bank  2500 

Bills payable  5000 Debtors           16000  

General reserve  12000 Less P.B.D         500 15500 

Capitals :   Stock  25000 

Govind 40000 Motor van  8000 

Girdhar 30000 Machinery  35000 

Gopal 25000 Building  45000 

 1,31,000  1,31,000 
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 Girdhar retires on 31.3.2013 subject to following conditions:  

 (a) The goodwill of firm to be valued at `18000. 

 (b) Machinery to be depreciated by 10% and Motor van by 15%.  

 (c) Stock to be appreciated by 20% and Building by 10%.  

 (d) Provision on debtors to be increased by `1950.  

 Prepare Revaluation a/c and Girdhar’s capital a/c.  

 fuEu 'krksZa ds lkFk fxj/kj 31-3-2013 dks vodk’k xzg.k djrk gS %  

 ¼v½ QeZ dh [;kfr dk ewY;kadu 18000 ` ij fd;k tk,A  

 ¼c½ e’khujh dks 10% rFkk eksVj okgu dks 15% ls vifyf[kr fd;k tk,A  

 ¼l½ LVkWd dks 20% ,d Hkou dks 10% ls c<+k;k tk,A  

 ¼n½ nsunkjksa ij izko/kku dks 1950 ` ls c<+k;k tk,A  

 rS;kj dhft, %  

 (i) iqueZwY;kadu [kkrk   (ii) fxj/kj dk iw¡th [kkrk 

PART – C @ @ @ @ [k.M[k.M[k.M[k.M    & & & & llll 
Q.12 Explain:  

 (a)  Accounting equation and its expansion with few (five) imaginary transactions.  

 (b) Concepts of Accounting.  

 le>kb, %  

 ¼v½ ys[kk lehdj.k rFkk ik¡p dkYifud O;ogkjksa ls bldk foLrkjA 

 ¼c½ ys[kkadu dh vo/kkj.kk,aA  

Q.13 On 1.7.2017 the Baba Glass Works, Delhi consigned 100 cases of crockery to their 

agent at Jaipur at invoice price of `20,000, this being selling price obtained by 

adding 25% to cost. They also paid for freight `500 and insurance `1000. In transit 

20 cases were lost and on a claim being made, a sum of `3200 was received by 

consignor. The agent took delivery of remaining cases and paid `800 as custom 

duty and `80 as octroi and `40 as cartage.  

 The agent reports sale of 60 cases for `14000 and had paid brokerage at %
2

1
1 . The 

agent after deducing the expenses incurred by them and their commission at 5% on 

gross sale proceeds remitted the balance due to consignor.  

 Give necessary ledger accounts in books of Baba Glass Works, Delhi.  
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1-7-2017 dks ckck Xykl oDlZ] fnYyh us 100 isVh ØkWdjh lkeku vius ,tsUV dks 20]000 ` ds 

ewY; ij t;iqj HkstkA blesa ykxr ewY; dk 25% tqM+k gqvk gSA mUgksaus 500 ` jsy HkkM+k vkSj 

1000 ` chek ewY; ds pqdk,A jkLrs esa 20 isVh [kks xbZA nkok djus ij izs"kd dks 3200 ` nkos ds 

izkIr gq,A ,tsUV 'ks"k isfV;k¡ lEgky yh vkSj 800 ` dLVe M~;wVh] 80 ` pqaxh ,oa 40 ` xkM+h 

HkkM+k pqdk;kA 

,tsUV us 60 isfV;k¡ 14]000 ` esa csph xbaZ crkbZ vkSj %
2

1
1  nykyh pqdkbZ xbZA ,tsUV us dqy 

fcØh dk 5% deh’ku rFkk viuk O;; dkVdj 'ks"k jkf’k izs"kd dks Hkst nhA ckck Xykl oDlZ 

fnYyh dh iqLrdksa esa vko’;d [kkrs cukb,A  

Q.14 From the information given below determine, the claim under loss of profit policy:  

 fuEu lwpukvksa ls ykHk dh {kfr ikWfylh esa nkos dh jkf’k dh x.kuk dhft, &   

Indemnity period  6 months  

Date of Fire  31.5.2014  

Dislocation upto  30.9.2014 

Sum Insured  70,000 

Sales for last Accounting year  2,40,000 

Net profit for last accounting year  20,000 

Standing charges for last accounting year   

(All Insured)  40,000 

Sales for dislocation period   

(31.5.2014 to 30.9.2014) 30,000 

Sales for 12 months immediately preceding the date of fire   

(i.e. 1.6.2013 to 31.5.2014) 3,30,000 

Sales for corresponding period in preceding year   

(i.e. 31.5.2013 to 30.9.2013) 1,10,000 

 

The policy contains “special clause” which stipulates for increase in turnover 

(Standard and Annual) by 10% for an upward trend in sales.  

ikWfylh esa ^^fof’k"V okD;ka’k^^ gS tks bl ckr dks izdV djrk gS fd fcØh dh ¼izekfir ,oa okf"kZd½ 

10% o`f) O;olk; esa c<+rh gqbZ izo`fr ds dkj.k djuh gSA  
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Q.15 Write notes on any two –  

 (i) Stock and Debtors Method of Branch Accounting.  

 (ii) Problems which arise while preparing Departmental Accounts.  

 (iii) Accounting entries in books of landlord and lessee in Royalty accounts.  

 fdUgha nks ij fVIif.k;k¡ fyf[k,A  

 (i) 'kk[kk ys[kkadu dh LVkWd ,oa nsunkj fof/kA  

 (ii) foHkkxh; [kkrksa dks cukrs le; mRiUu gksus okyh leL;k,aA  

 (iii) vf/kdkj 'kqYd [kkrksa esa iÍknkrk ,oa iÍk/kkjh dh iqLrdksa esa ys[kk izfof"V;k¡A 

Q.16 Ram, Mohan and Shyam were partner’s sharing profit and losses in ratio of 3:2:1. 

Their B/S as on 31.3.2017 was as follows when they decided to dissolve the firm.    

 jke] eksgu ,oa ';ke 3%2%1 ds vuqikr esa ykHk ckaVrs gq, lk>snkj FksA mUgksaus QeZ ds lekiu dk 

fu’p; fd;k rFkk 31-3-2017 dks mudk fpV~Bk fuEu izdkj Fkk %   

Balance Sheet 

Liabilities ` Assets ` 

Sundry Creditors  65,000 Cash at Bank  5,000 

Loan from Ram  37,500 Debtors           30,000  

General reserve  30,000 Less : Provision 2500 27,500 

Capital accounts   Stock  45,000 

Ram  50,000 Machinery  75,000 

Mohan  25,000 P & L a/c  60,000 

Shyam  5000   

 2,12,500  2,12,500 

 

 The assets were released as under : Debtors 22500, Machinery 50,000. Stock was taken 

over by Ram for 30,000. The creditors were paid off 47,500 in full settlement. Realisation 

expenses amounted to 2500. Mr. Shyam became insolvent and could contribute only 1250 

form his private estates. Prepare necessary accounts to close books of firm assuming that 

capital accounts were fixed.  

lEifÙk;ksa ls olwyh fuEu izdkj gqbZ % fofo/k nsunkjksa ls 22]500 ` e’khujh ls 50]000 `A LVkWd 
jke }kjk 30]000 ` esa ys fy;k x;kA ysunkjksa dks iw.kZ Hkqxrku ds fy, 47500 ` pqdk;s x;sA 
olwyh O;; 2500 ` gq,A ';ke fnokfy;k gks x;k rFkk mldh futh lEifr ls ek= 1250 ` izkIr 
gq,A   
QeZ dh iqLrdksa dks cUn djus ds fy, [kkrs ;g ekurs gq, cukb;s fd iw¡th [kkrs fLFkj gSA  

----------------------------------------- 


